KIIT WORLD SCHOOL
MATHEMATICS ASSIGNMENT

STD. VII
CH-1 INTEGERS

KNOWING INTEGERS:

Q1. What are natural numbers? (K)

Q2. Why we need whole numbers to replace natural numbers? (K)

Q3. Which new category of numbers has been introduced after whole numbers? (K)

Q4. Which all numbers are included in collection of integers? (K)

PROPERTIES OF INTEGERS:

Q5. Say true/false:

· Closure property states that if you add, subtract or multiply two integers, the result is always an integer. 

· For any two integers a and b, (a x b) = (b x a)

· Integers are closure under division.

· Addition and subtraction are associative.

· For every integer a, a x 0 = 0 x a = 0.

· Zero is larger than every negative integer.

· The smallest integer is zero.

· Every integer when multiplied with -1 gives its multiplicative inverse.
MULTIPLE CHOICE QUESTIONS:

Q6. Tick the correct option (K)

a)
 How much less than -2 is -6?

i)4
ii) -4
iii)8

b)       0÷ (5) = ?

i)-5
ii) 5
iii) 0

c) The additive inverse of -6 is

i) 1/6
ii) 6
iii) -1/6

d) (?) ÷ (-18) = -5

i) -90
ii) 90

iii) 54

e) (-8) ÷ 0 =?

i) -8
ii) 8
iii) not defined
ADDITION AND SUBTRACTION OF INTEGERS:

Q7. Find the sum of 

(a) 153 and -302


b) -489 and -324

Q8.  Subtract:

(a) -66 from 0


b) -153 fro -240

Q9.  Subtract the sum -1024 and 867 from -34. (A)

Q10. The sum of two integers is 64. If one of them is (-32), find the other. (A)

Q11. The difference of an integer b and (-8) is 5. Find the value of b. (U)

Q12. Write a pair of integers whose difference gives: (U + A)

i) zero

ii) an integer smaller than both the integers 

iii) an integer greater than only one   of the integer


MULTIPLICATION AND DIVISION OF INTEGERS:

Q13. Multiply: (U)


i) (-30) x (-3) x (-300)
ii) (-3) x (-3) x (-3 ) …… six times

Q14. Divide: (U)


i) (-105) by (-21)

ii) (-35 )by 5   


Q15. In a class test containing 18 questions, 5 marks are given for every correct answer and   (-2) marks are given for every wrong answer. Naman attempts all questions and 12 of his answers are correct. What is his total score? (K+A)

Q16.  A shopkeeper gains Re 2 on every eraser and loses 50 paisa on every sharpener. He sells 45 erasers and some sharpeners losing Rs. 10 in all. How many sharpeners does he sell? (U+ A)
